CKD New Products

WAER - (BT AR KL
SCW < 2-P Series

FEFR

@I &1S015552%5”

@ LAF5 [EihiAEE M B9 1TIE K/

OFXLERMERE, BHAXMERFEHXHA
TR

kg TIEARE
% HR | RETER | RAITIE [THIETE RIVTE
5 mm | ¢32 | ®40 | 050 | $63 | ¢80 | ¥100 (mm) | (mm) | (mm)
(EJZEPmYN EREETS 500
BEIEES MPa 1.0 <1540 25,50,80,100, | 500
L MPa 01 930 ;ég:;ggﬁggj 600 800 25
RIEMEA MPa 15 #63 | 500,600,700, | 600
IR °C -10~60 (B2, FEHE) $80 800 800
TIRRE mm 0~14 100 800
RAFEE mm/s 50 ~ 1000 ST B BATTIZE, IRIBR BB AT AR R RS, FEREE LA,
ZAR TREH
BB KE mm| 15 | 15 | 164 | 164 | 234 | 234 SHg—%
i £% e BRHITHES
SERRRER J| 25 | 60 | 90 | 144 | 254 | 456 p 632 SCWP2-P-32K

2 $40 SCWP2-P-40K

3 $50 SCWP2-P-50K

4 $63 SCWP2-P-63K

5 $80 SCWP2-P-80K

6 $100 SCWP2-P-100K

7 :SCWP2-P.SCWT2-Pif,

BER (i kg)
i3 ROmmITA 5 B R | pEE |
i g COmmIEERER ssmniETxEs TARE Ludiy L
Gt #B | OBER | =R HEE | press (&) B#Es -
(00) () (FA) |(TA. TB. TC) (Tﬁ/
SCWP2-P-¢ 32 0.89 0.95 1.1 - 0.20 O 07 0.10
@40 1.20 1.30 1.48 - 0.28 - 0.07 0.13
@50 1.59 1.72 2.07 — 0.41 — 0.20 0.30
¢ 63 2.48 2.72 3.24 - 0.42 — 0.20 0.30
¢80 4.33 4.56 5.90 - 0.74 - 0.52 0.94
@100 6.04 6.59 8.36 - 0.74 0018 — 0.48 0.92
SCWT2-P-¢ 32 0.86 0.92 1.08 1.03 0.13 ’ 0.024 0.07 0.10
40 1.15 1.25 1.43 1.49 0.21 0.024 0.07 0.13
® 50 1.50 1.63 1.98 1.98 0.30 0.022 0.20 0.30
@63 2.35 2.59 3.1 3.23 0.32 0.020 0.20 0.30
¢80 4.02 4.25 5.59 5.51 0.58 0.026 0.52 0.94
¢ 100 5.72 6.27 8.04 8.29 0.55 0.024 0.48 0.92

EFE(LB)NBRRRAE

C-CC-1454C



SCW >:<' 2'P Series

ﬂ%ﬁa‘:ﬁiﬁ
SCWT2 P — N it
RERR 00 |ISO%T |EAE
LB |MS1 BRI EE R
FA  |MF1 Bl A
TC MT4 s E A ((RIRSCWT2-P)
TA BiHE A ((RPRSCWT2-P)
B BB ((NESCWP2-P)
B
Iz 32 32
40 ¢ 40
50 ¢ 50
63 ¢63
80 ¢80
100 ¢ 100
C Hib= 33
D) Zg
0%"*] B |MIISSEmEAR)
E T B T S
o7z | I [ | || . T
Gﬁ&mﬂ;ﬁ'? 25. 50, 75. 100
G =
OFRUS BHESE US4 |lE | Bn |54
TOHX | TOVX | 5 [RBETRH
T5H% | TS5V | fib | TiEwIT |24
T8Hx | T8V | R |#BEERR
TIHX% | TV i
: : _ 24%
T2H ¢ T2V BEIRI
T3HX | T3V 3%
T2WH | T2WV3% 2t
T2YH% | T2YV3¥% | £ o ]
TIWHR [Tawvi | g | oA
T3YHX | T3YV% | = 3%
A ﬁ%ﬁﬁﬂﬂﬂii%f?lﬁ T3PH¥ | T3PV BEERI
T2YD —
1T XFIETIE, BRI mmA S AL T - BHHBATE | 24
20 T Y R IR T, T2YDTo% | —
T2JH¥ | T2JV3 BRERFEIRE | 24
(B2 XKRH) TS |1m (FRE)
SCWP2-P-LB-40B-50-25-TOH-R-MI-SX P poin
O == BrEMER - NCE
OLIR: ¢40 OF %% oy
OEH: HFNE R__[AhweIn
@71772: 50mm H Emjm i
@ TIZAIAESEE: 25mm D :rEZ i
OFXEE: TOH, S4KE1m T w3
@ FF % aimsE1D : !
i —
Q ERT: EENME (RFEW) (1 Jrizzaud M TREMMBR(RFEW)
Qi BEFEEMG OI—M‘H* J
QLRI PHIRN R (REIHEHFT %) - I ISO8139 | EIFEEM
Y I1SO8140 |WEIFEZM(FiENFOE)
R ey e
SX BHIRIS R (R el B HFFK)

CKD




SCWPZ'P Series

) M RTE
SMERTE
@SCWP2-P
tEIHIEESY (LB)
2B ETIR EESO
s
L ,
R = ) ) )
7 )
ES :
EESO BPETIR
X+2x{T2+ax
A WF L8+1TH2 PC+{Ti2+a
L2
OE m G RD HD G PA 1712 PB+a PD
8-RTABG TG VD -
WABALS 24BN PL 2L
N KK TT
< — i W}
@) e :
B
I & © » moEEmwW = § = ors
. 'S hSY RE
AR SHARESW/ | \
ml SHNEEPW
4- ¢ AB TR AO AU AU ‘ AO
LE SA+{THZ
XA+{TIE

aX¥fTIEAEER (£ mm)

| i1# N A | B |BGJ| E | AK|EE | F | G |HW] KK | L2 ] L3 ] L8 ]L12] M |MM]SW]PLJRT ] T |
$32 22 | 30 | 16 | 475243 [G1/8] -67 | 33 | 17 | M10X1.25 | 15 | 5 | 94 | 6 | 49 | 12 | 10 | 13 | M6 | 6
640 24 | 35 | 16 | 53 | 27 [G1/4] 10 [ 358 18 | M12X1.25 | 17 | 5 [ 105 | 8 | 55 | 16 | 13 | 14 | M6 | 6
$50 32 | 40 | 16 | 65 | 33 [G1/4] 06 | 37 | 24 | M16X1.5 | 24 | 5 [106 | 8 | 7 | 20 | 17 | 14 | M8 | 10
663 32 | 45 | 16 | 76 [385[G3B| 3 [383] 24 | MI6X1.5 | 24 | 5 [121 | 8 | 9 | 20 | 17 | 16 | M8 | 10
¢80 40 | 45 | 21 | 95 | 48 |G3/8] 0 | 40 | 30 | M20X15 | 30 | 6 | 128 | 11 | 12 | 25 | 22 | 16 | M10 | 12
$100 | 40 | 55 | 21 | 114 [ 575 [ G1/2] 45 [432] 30 | M20X1.5 | 33 | 6 [ 138 | 11 | 12 | 25 | 22 | 18 [ M10] 12
.E—
|1 N\ TG | VD | WF | X | AB | AH | A0 | AT | AU | LE | SA | TR | XA | PA [ PB [ PC[PD[PT [ _ RE_ |
$32 |325| 4 | 26 | 196 | 7 | 32 | 8 | 4 | 24 | 46 | 146 | 32 | 148 | 16 | 20 | 54 | 9 | 6 M10X1.25
640 38 | 4 | 30 [215] 9 | 36 | 10 | 4 | 28 | 52 | 165 | 36 | 167 | 16 | 20 | 56 | 11 | 8 M14X1.5
$50 | 465| 4 | 37 | 236 | 9 | 45 | 10 | 5 | 32 | 65 | 177 | 45 | 182 | 12 | 35 | &1 | 11 | 11 M18X1.5
$63 | 565 4 | 37 [ 251 | O [ 50 | 10 | 5 | 32 | 75 [ 192 | 50 [ 197 | 12 | 35 | 61 | 14 | 11 M18X 1.5
680 72 | 4 | 46 | 279 | 12 | 63 | 13 | 6 | 41 | 94 | 220 | 63 | 225 | 16 | 33 | 65 | 16 | 13 M22X1.5
$100 | 89 | 4 | 51 [ 303 [145] 71 | 15 | 6 | 41 | 114 [ 230 | 75 | 240 | 16 | 42 | 74 | 16 | 13 M22X 1.5
Immmmmm
632 17 | 40 | 45 | 45 | 7 | 7
640 19 | 40 | 45 [ 95 | 7 [ 12
$50 27 | 48 | 55 | 75| 8 | 95
663 27 | 48 | 10 [ 155 | 12.5 [17.5
¢80 32 | 60 [ 145145 17 | 17
$100 | 32 | 70 | 165165 18.5 | 185

CKD



SCWT2-P

Series

IMERTE

@SCWT2-P
AR (LB) -
Epstia EERH
-1 ( LL ) 0}
‘\ KD, )
s I8 éE
EESO HHETIRE
X+2x{TiE+aX
A WF L8+{TH2 PC+{T#2+a
o T L2
LIE L12|_ G RD HD G o 178 PB+a¥ | pD
- 076 VD
8RTZBG ~ 1 & B d11 = PL PT
A7SAIRL3 A . =
- = E: ==
X o KK e — - TT
<
T stpEEHw,/ /2 [ 2 ol
< @ T © : : g 2 RE
N XATESW/ & —
'_ R A0 ||| AU AU | | AO e
< LE 4-9 AB SA+TIZ
XA+{T12

aX¥ATIZRIVEEE (810 mm)

1
032 22 | 30 | 16 |475[243| G1/8 | 6.7 | 33 | 17 | M10X1.25 | 15 | 5 | 94 | 6 | 49 | 12 | 10 | 13 | M6
640 24 | 35 | 16 | 53 | 27 | G1/4 | 10 [ 358 18 | M12x1.25 | 17 | 5 [ 105 | 8 | 55 | 16 | 13 | 14 | M6
$50 32 | 40 | 16 | 656 | 33 | G1/4 | 0.6 | 37 | 24 | M16x15 | 24 | 5 [ 106 | 8 | 7 | 20 | 17 | 14 | M8
063 32 | 45 | 16 | 76 | 385] G3s 3 [383[ 24 | MI6X1.5 | 24 | 5 [121 | 8 | 9 | 20 | 17 | 16 | M8
¢80 40 | 45 | 21 | 95 | 48 | G3/8 0 | 40 | 30 | M20X1.5 | 30 | 6 [ 128 | 11 | 12 | 25 | 22 | 16 | M10
$100 | 40 | 55 | 21 | 114 [57.5] G1/2 | 45 [43.2] 30 | M20X15 | 33 | 6 | 138 | 11 | 12 | 256 | 22 | 18 | M10
22 [
i# N T | 76 | vD | WF | X | O | P | AB [ AH [ A0 [ AT [ AU [ LE [ SA [ TR [ XA | PA [ PB [ PC | PD [ PT |
$32 6 |325| 4 | 26 | 196 | 58 | 38 | 7 | 32 | 8 | 4 | 24 | 46 [ 146 | 32 [ 148 | 16 | 29 | 54 | 9 | &
640 6 | 38 | 4 |30 [215]| 64 | 40 | 9 | 36 | 10 | 4 | 28 | 52 | 165 | 36 | 167 | 16 | 29 | 56 | 11 | 8
50 10 [465| 4 | 37 [236 [ 72 | 42 | 9 | 45 | 10 | 5 | 32 | 65 | 177 | 45 | 182 | 12 | 35 | 61 | 11 | 11
663 10 | 565] 4 | 37 | 251 | 83 | 46 | 9 | 50 | 10 | 5 | 32 | 75 | 192 | 50 | 197 | 12 | 35 | 61 | 14 | 11
¢80 12 | 72 | 4 | 46 [279 [ 103 | 56 | 12 | 63 | 13 | 6 | 41 | 94 | 220 | 63 | 225 | 16 | 33 | 65 | 16 | 13
100 4 71 | 15 | 6 | 41 | 114 [ 230 | 75 | 240 | 16 | 42 | 74 | 16 | 13
us
AR
$32 | M10X1.25 5 | 4.
$40 | M14x1.5 | 19 | 40 | 45 | 95 | 7 | 12
$50 | M18X1.5 | 27 | 48 | 55 | 7.5 | 8 | 95
$63 | M18X1.5 | 27 | 48 | 10 | 155 | 125 [ 175
$80 | M22X1.5 | 32 | 60 | 145 [ 145 | 17 | 17
$100 | M22X1.5 | 32 | 70 | 16.5 | 16.5 | 185 | 185

JE1RIBITIZ BT (R ER), R~T1E8 % C-CC-1362CHH5510T1,
2 RER LB, REFLAVH BEIEMITE SRR, EthRER T WHERTERER.

FEMNEREORTRBEEEXIRARTRERN, RERERBESIEHERERTSEXN. HSAXNART,
If the goods and/or their replicas, the technology and/or software found in this catalog are to be exported from Japan, Japanese laws
require that the exporter makes sure that they will never be used for the development and/or manufacture of weapons for mass destruction.

EFE(LE)NBRRATF

<Website>

https://www.ckd.sh.cn/

QL TFHRENER, A BIRHNRIERIIMATRERHITEE,
©CKD Corporation 2019 All copy rights reserved.
©EFIE (Lig) MEBHRARE 2019kRFAE

B AR

W5

iTiEAl,

EiEmi T KITHER 19055 PRI A 1614601
BiE (021) 61911888

BB IR R

f£E (021) 60905357

200233

2019.4.ACNBC



